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QUESTION 1

Application definition allows system administrators to define and manage individual applications, each with their own
attributes? The definitions allow administrators to add one or such applications to which of the following?

A. application programs
B. application data sets
C. application sequences
D. application lists

Correct Answer: C

QUESTION 2

During a post-installation check of System Manager and Session Manager you discover that the Session lager replica
node is stuck at "Synchronizing”. You run the initTM command in Session Manager but the replication status does not
change. Which step will be effective in resolving the problem?

A. Reset the enrollment password.

B. Run traceSM to monitor the synchronization events and restart the Security Module.

C. Delete the Session Manager Replica node in System Manager, verify the enrollment password is valid In System
Manager and run the initTM command again in Session Manager.

D. Verify the enrollment password is valid in System Manager and run the initTM command again in Session Manager.

Correct Answer: D

QUESTION 3

Session Manager has a routing policy that routes calls made to any number beginning with \V'100\\' to SIP Entity X.
However, \\'sip.-1001avaya.com\\' is the SIP communication profile address of user Y. User Y is not currently registered
(signed in) with Session Manager. What will happen if Session Manager receives a call addressed to
\\'sip.-1001avaya.com\\' and why?

A. It depends on the time ranges of the policy. If the call is placed inside a defined time range for the policy, the call will
be routed to destination X. If not, then Session Manager will attempt to route the call to user Y. Since Y is not registered,
the call will timeout, and the call will fail.

B. Since user Y is not currently registered, the call will be handled by the routing policy. If the call is placed during a time
range specified by the policy, then the call will be routed to destination

X. If not, then the call will fail.

C. Since the destination URI matches a communication profile SIP handle, Session Manager will not use the routing
policy in handling the call. The call will fail since user Y is not currently registered.
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D. Since the destination URI matches a routing policy dial pattern, Session Manager will give no consideration to the
user Y registration status. If the call is made during a time range for the policy, the policy will be applied and the can will
be routed to destination X. If not, then the original URI of \\'sip.-1001avaya.com\\' will be used as the destination to
which Session Manager will route the call.

Correct Answer: C

QUESTION 4

A technician is tasked with creating a set of Routing Policies for the organization. Which statement describes the steps
that must be taken prior to defining a new Routing Policy?

A. A SIP entity must be specified as both a destination and as an origination point. You must provide the times of day
that the policy applies, and a dial pattern or regular expression that the call URI must match.

B. The destination SIP entity can either be chosen specifically, or it may be selected implicitly using a matching
expression. Multiple times of day the policy is active can be chosen. The policy must have either a dial pattern or regular
expression.

C. A dial pattern must be specified which the called party in the SIP message is matched against. Inclusion of a time
range, or regular expression, is optional but recommended since it makes the policy more specific.

D. A SIP Entity must be specified as a destination.

Correct Answer: C

QUESTION 5

If two standalone session Managers and one standalone System Manager are going to be installed, how many IP
Addresses will you need?

A. 3

B.5

E.9

Correct Answer: D
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